1. The correct relation between Young’s
Modulus (Y), Bulk modulus (K) and Poisson’s
ratio (o) of an elastic solid is

(A) Y= K(1-20)
(B) Y =3K(1-0)
(©) Y = 3K(l+0)
Y'Y = 3K(1-20)
@36 ¥ e <wm T e (Y),

SR R el (K) 3R 157 Ssiive (o) seeg
T T e

(A) Y =K(1-20)
Y = 3K(1-o)

(©) Y =3K(l+0)

(D) Y =3K(1-20)

2. The ratio of the radius of gyration of a
circular disc to that of circular ring, each of same
mass and radius, arround their respective axes is

A) 3:42
\93«)/1:\/5
© 2 :1
D) V2 : 3

S ©F 8 PP T4 G IO HIFfS @
293 5F-o1fS7 TIPS NS T INFW G
A% o Asies ~

A 3:42
(B) 1: 2
(©) V211
D) V2 : 3
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3. A wire of resistance 4 is stretched to
twice the original length. Its new resistance will be
(A) 8Q
B) 1Q
Vo160
D) 120

4Q @URFR AR O Gm Wl Bwd
I 29 | AR T ANy 2@

(A) 8Q

B) 1Q

©) 16Q

D) 120

4. IftherelationRinthe set {1,2,3,4} given by
R={(1,1),(1,2),(1,4),(3,1),3,2),4,3),42)},
then the domain of R is given by

{1, 3,4}
B) {1,2,3})
© {1,2,4}
(D) None

{1,2,3,4) G165 9 3778 R et icwifie <
R={(1,1),(1,2),(1,4),(3,1),(3,2),43), 4 2)}
2, R 99 CFa ¢

A) {1, 3,4}

®) {1,2,3)

© (1,2,4)

(D) @R 77

5. Very
lecture.
Fill in the blank with correct alternative.

(A) small

few
(©) little
(D) many

students attended today’s

6. The little boy takes his father.
Fill in the blank with the correct preposition.

(A) of
(B) with

\% after

(D) on
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7. If South-East becomes North, North-East
becomes West and soon. What will West become?

(A) North-East
(B) North-West

South-East
(D) South-West

8. The value of

sin? % + sin? g+ sin2 Z—g + sin2 4Tn is
(A) 1
2
©) 3
D) 4

sin? = + sin2 = + sin27—n+sin24—n—¢1§
18 9 18 9
RICEC
A) 1
B) 2
© 3
D) 4

9. Twopointcharges +q and +4q are separated
by a distance 6a. Find the point from charge +g,
where the electric field is zero on the line joining
the two charges.

(A) 6a
(B) 4a

() 2

D) a

o R wiaE, +9 8 +4q Fema s
6a MACY SRAES GIR | G N0 TR @A
IR RS +q W4 (AE ©fe-CFaa T *77 2

(A) 6a
(B) 4a
©) 2a
(D) a

10. The amplitude of z=-21i is

(A) O
(4
®) 5

< -z

Y4

2
z=-2i Tioer AT wpEfaose 2@
(A) 0

a
®) 7
<O -z

® -7

11. Which quantum set of an electron is not
possible?

(A) n=3,1=2,m=0,s=+%

B) n=3,lI=1l,m=-1,s=-1
n=2,1=00m=-1,s=+%

D) n=2,lI=1,m=0,s=-1

G0 ZERGE (I (FIAFOIN GO HEI = ?
(A) n=3,1=2,m=0,s=+"%

B) n=3,l=1,m=-1,s=-Y%

(C) n=2,1=0,m=-1,s=+%

D) n=2,l=1,m=0,s=-%



12. Risthesetofallrealnumbers. Two functions
f:R—Rand g : R—R defined as fix) =5 —x?and
gx) =3x -4 respectively. Then the value of
(fog)(-1) is

(A) 8
-44

(C) 54

(D) 16

R ¥ AL (0 | 96 S £ R—>R 3%
g : RHR ffeReeie sikers ¢ fix) = 5 — 2 @R
g(x) =3x — 41 (fog)(-1)~a4 T 35

(A) 8

(B) —44

(C) 54

(D) 16

13. Ifthe 21st and 22nd terms in the expansion
of (1- x)44 are equal, then x =
7
W) 3
7
8
8
8
®) -
i (1-x)* RO 219 € 229 o7 7
R, IR x-Ag A 25T
7

® -3

© 3

® ~3
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14. The person has no heir.
Fill in the blank with the correct alternative.

(A) disease
(B) decrease
(C) decreased

Weceased

15. Thelengthofthe Latus-rectum of the ellipse
S5x*+9y?=451is

5
(A) 3

25
®) ==
Js
c) Y2
© 3
\)D(E
3
5x% + 9y* = 45 Toiqred ATy e 2
5
(A) 3

(B)?_‘/E
5
NG
c) Y2
()3

10
D) 3
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16. The forceonaconductorof length/, carrying
current i, placed perpendicular to a uniform
magnetic field B is equal to

(A) zero
iB
®B) T

(C) i*Bl

.\9))/1'131
| e AR oftesma i @3k B

BrIICFEI AN TR Fio 39 T ©f @ T
TS I O AN A

(A) [T

iB
B)
(C) Bl

(D) iBI

17. I G=2i -3} +4k and b =—6i +9) —12k,
then

(C) angle between two vectors cos~! %

(D) angle between two vectors g
i G =2f -3] + 4k 4R b=—61 +9j 12k
=, ol
(A) @alb
®) allb
(©) 1 (ST VLT @I cos-! %
(D) 96 (SFER TTEE (I g

18. In a heterogenous mixture dispersed phase
is liquid but dispersion medium is solid— the
mixture is regarded as

(A) emulsion
(B) sol
(C) aerosol
B el
Gf5 ST fireeet Ry well ot @ Rt
g Fo— G2 PTG eI 3@ =
(A) T
(B) e
(C) SpIe
(D) &

S—x

1+5x

2 1
M 1+ x2
1
1+x2

, then the value of @ is

19. =tan~!
9. If y=tan o

(B)

© 5

D) 1+ x2

5-x dy
755 O g AN
1

y =tan-!

A) -

1+ x2

1
1+ x2

(B)

©) 5

5
1+ x2

(D)



20. The least doped region in a transistor
(A) either emitter or collector
base
(C) emitter
(D) collector

GIRRErDIEa @ SRR (eifeik Ffm Tl 2
(A) =¥ af bR 78 IR

(B) &

(C) «afiorR

(D) IR

21. If the third term of a G.P. is 4 then the
product of the first five terms of the G.P. is

(A) 4
(B) 16

\/@/1024

(D) None

@I Gred 2ofed Porl 7 4 (e, AN
Sl Ata @ =R

A) 4

(B) 16

(C) 1024

(D) @R 7

VOCLET-23

22. The mean of the values0, 1,2, ...,n, having
corresponding weight "¢y, "¢y, "¢y, ..., 'C
respectively is

271
n+1
n+l

(B) nn+1)

(A)

© =~

3
) 2
0,1, 2,...n, GOE TG IO F, @I I
weight (ST IR IAFH "¢y, *cy, "Csvneer s 1€y
2"
n+1
on+l

B) L+

© 5

(A)

n
D) 5

23. For 4S! electronic configuration, the n
(principal quantum number) & ! (azimuthal
quantam number) value is

(A) n=1,1=4
(B) n=4,1=1
(C) n=3,1=1

n=4,1=0

4S! JERG RAU-a9 &=, IR RGN
A (1) @ (N PR A (1) 97 T R
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24. Which one on thermal decomposition gives
nitrogen dioxide?
vu:f LiNO,
(B) NaNO,
(C) KNO,
(D) RbNO,

@A Bl Rren FREEE TReHRe
oru P

(A) LiNO,

(B) NaNO,

(C) KNO, /

(D) RbNO,

25. Acoinistossed 10 times. The probability of
getting head 6 times is
1
210

1
710

1
s 5
1
210
@36 @1 10 I HCHA F1 Ze | QTR 6 I

(A) lOC‘5 s

(B) 10C3 .

(D) IOC8 "

1
(A) 10C o /

1
(B) 10C, T

1
1
(D) 10¢y 5T

26. Two objects of masses 1x10™ kg and
4x%1073 kg have equal momentum. What s the ratio
of their kinetic energies? 4

(A) 2:1

\/QB’)” 4:1

© 1:4

(D) 1:2
1x1073 kg €} 4x107> kg ©ARHR 76 <@
SIS T 2, ©I0r SIfeHfE Site 7 ?

A) 2:1

(B) 4:1

©) 1:4

D) 1:2

27. The direction cosines of the vector

(21? —} - 2/2) are

21 2
® 37373

21 2
B) £ =, =
()3!3’3

2 1 2
G) ==, ~=5 —=
© -3 -3 -3
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42 43 44 31. But-1-yne and But-2-yne is distinguished
using
28. The value of [4° 4% 4% s
44 46 47 (A) AgNO,
Ay 4 LB AgNO, + NH,0H
B 42 (C) CuSO,
© 4 (D) ZnCl,
M RT5-1-w%" 8 RE6-2-%3A A1y Fre
ace
2 3 4
23 44 45 (A) AgNO,
9 :6 :7 SRR , (B) AgNO, + NH,OH
5 (C) CuSO,
(A) 42 (D) ZnCl,
(B) 4
(©) 4*
D) 0

i 32. If y=sin-lx+sin~1v1-x2, |x|sl then
29. Choose the pair/group of words that show

the same relationship as given at the top of every dy is
pair/group. @) 1
PAISA-RUPEE; CENTIMETER-METER;
KILOGRAM-? B) -1
(A) GRAM \ LT 0
(B) HECTOGRAM (D) None
QUINTAL
(D) MILLIGRAM y=sinlx+sin1/1-x2, |3{{ <1 =@
d
RG]
30. The oxidation state of Cr in (A) 1
[Cr(NH,) 4(N02)Cl]+ion is B) -1
(A) 0 ©) 0
B) +1 (D) @R T
\}9" 43
D) +2
[Cr(NH,) 4(NOQCI]*WT?JCN Cr-ad W;T kgl
L 33. AIDS spreads through
(A) 0 (A) Bacteria
B) +1 (B) Protozoa

(© +3 "N Virus
(D) +2 (D) Fungi
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34. Resistance of tungsten wire at 150°C is
133Q. Its temperature coefficient is 0-0045/°C.
The resistance of the wire at 500°C will be

(A) 180Q
(B) 225Q

258Q
(D) 317Q

150°C Ty {0 DIKTHN OIF ([iK 133 Q|
OIER OIS @ig a9i® 0-0045/°C 1500°C Treeig
o @Y T@

(A) 180Q

(B) 225Q

(C) 258Q

(D) 317Q

35. If |a|:\/§,15|=2 and G-b =+/6, then the
angle between g and p is

S

D3 wla oja »3

(B)
©

(D)

A |a|=3.[p| =2 9<% @b =6 T, o
G 8 | (S3EEE VYS! (@l 7@

(A)
(B)
©)

(D)

Nl wla oa &)a

10

36. A physical quantity A is related to four

a2h3
,the

vk

percentage errors of measurement in a, b, ¢ and d

observables a, b, c and d as follows A =

are 1%, 3%, 2% and 2% respectively. What is the

percentage error in A?
(A) 12%

515 55 a, b, ¢ 8 d a1 5ifd G cSTeIPT

2 3
a\/— | a, b, c'8 ST *eFF o4 Al 2
C

JAFE 1%, 3%, 2% 8 2% | A (STOAMRF o4l

Sfog wfmist [efa 3|
(A) 12%
B) 7%
(©) 14%
(D) 16%

37. Three types of valency are present in
(A) H,O*
(B) NH,
(C) KCl
NH,CI
om0 @t ol T
(A) H,0™9
(B) NH;-(®
(C) KCl«
(D) NH,CIl-«




38. If G =2/ +3j -6k and f= pi - j+2£ be
parallel, then the value of p is

1

A) -3
2

B) 3
s

o

3

® -3

MW a=27+3]-6k @ B=pi—j+2k
mwww,w‘p’ﬂawm

&) -3
® 3
© -2
©) -2

39. Insertthe word(s) that can be prefixed to the
words given to form new meaningful words.

AGE, POSE, ____ PART
(A) S
(B) R

AT M

(D) DE

40. Compound possessing the highest me;ting
point—
(A) Al
Al F,
(C) AlBr,
(D) AlCl,

THON ARG Fo AL —
(A) AlL

(B) AIF,

(C) AlBr,

(D) AlCl

11
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41, Let f(x)=12C084x

> , x#0
X
=K, x=0

Iff(x) is continuous at x =0, then K is equal

to
(A) 4
B) 6

Lo 8

(D) 10

f(x) _ 1-cosdx

2 ,x#£0

=K, x=0

x = 0 RS f(x) 8© T K~43 57 2@

A) 4
(B) 6
© 8
(D) 10

1 1
| ————|dx="
a J¢[L-1]
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43, Area bounded by y=xand y = x? is
(A)
Ny
©
(D)

D Rjw o= o —

Yy =x AR y = x? T <2 WA CFITF
(A)
B)

©)
(D)

A N e S

44, The radii of curvature of two surfaces of a
concave-convex lens are equal. The power of the
combination is (in dioptre)

A) 1
B)0
(©) o

\MNone

G3fb SISTNEH (FTE 72 783 Ig~o! g
A | (791 TFA0F FTO! T (TA0F GIF)

A) 1

B) 0

(©) =

(D) TR

45. The English are industrious. Here English
indicates—

English people
(B) English language
(C) English literature
(D) None of the above

46. Correct order of stability of hydrides :
(A) NaH > LiH > KH > RbH
LiH > NaH > KH > RbH
(C) RbH > KH > NaH > LiH
(D) KH > NaH > LiH > RbH

FRGECNIGERRER PR Rea
(A) NaH > LiH > KH > RbH p
(B) LiH > NaH > KH > RbH
(C) RbH > KH > NaH > LiH
(D) KH > NaH > LiH > RbH

47. Which can be used in Friedel Crafts
reaction? '
(A) HC1
(B) HCIO,
(C) HNO,

\/(Ejw BF;
A ?
(A) HCI
(B) HCIO,
(C) HNO;
(D) BF;

48. My uncle is repairing his car.
The passive form of the sentence is—

(A) The car is repaired by my uncle.
\/QB'Y’ The car is being repaired by my uncle.

(C) My uncle has repaired his car.

(D) Thecarhasbeenrepaired by my uncle.

49. Find the missing number:
2,12, 60, 240, ?
(A) 360
(B) 480
(©) 540

,V(DS’ 720



‘\‘2 x3 xn
dySO_ If )’=1+X+T+T+....+F,

then
is equal to

&) ¥
xll
B) ¥+

_xn
U2y
n:

n

D) y-1-=

n:

x3

2
MW y=1+x+2t =

xn
N ++F‘, @,w
=7?

L)
dx

(A) y

xn
B) y+ T
xn

© =

xn
@) y-1-—+

51. Today is Vivek’s birthday. One year from
today he will be twice as old as he was 12 years
ago. How old is Vivek today?

(A) 20 years
(B) 22 years

\,Q@f 25 years

(D) 28 years

. [1 2 37,
52. The order of matrix A—[ 45 _1] is

(A) 3x2
vasfzxs
(C) 2x2
(D) 3x3

A:[1 2 3

4 5 —1] ilroA I =

(A) 3x2
(B) 2x3
(C) 2x2
(D) 3x3

13 VOCLET-23

53. If the probability of an event is p, then the
probability of its complementary event will be

(A) p-1
(B) p

e 1-p

(D) 1——1-
p

@3B ToAIF OIF AT I p B, O 97
RHERCIEOIEIS

(A) p-1
B r
€ 1-p

D) 1—i
p

54. Compound thatreduces Tollen’s reagent is

(A) CH,CH,0H
(B) CH,COOH

(C) CH;—C—CHj

(A) CH,CH,OH
(B) CH,COOH

(C) CH;—C—CHj

O
(D) HCOOH
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Lo
55. The value of Ixe dx s
-1

(A) 0O

1
©) -1
(D) 2

1
x2
J. xe” dx SUERD G
-1
(A) O
B) 1
© -1
D) 2

56. Threelines 6x+y—-1=0,ax+2y-2=0
and 4x+3y—-3=0 are concurrent if
(A) a=2
(B) a=3

o6 @A 6x+y—-1=0, ax+2y—-2=0
aR 4x+3y—-3=0 T¥ AR IWM

(A) a=2

(B) a=3

(C) a=28

(D) -9 @ I WL &)

57. The Commander said, “Soldiers, march
forward”.
The sentence, written in indirect speech is—
(A) The Commander ordered the soldiers
to march forward.
(B) The Commander said to the soldiers
that they should march forward.
&) The Commander commanded that the
soldiers should march forward.
(D) The Commander ordered that the
soldiers are to march forward.

14

58. A chemical change is undoubtedly
spontaneous if

(A) AHis negative.

(B) AS is negative.

(C) Both AH & AS is negative.

w AH is negative but AS is positive.
g6 gl sy e Forys
[ M

(A) AH 9189 27 |

(B) AS i< 27 |

(C) AH '8 AS Te33 4INS 2T |

(D) AH 919/% 58 AS 47INIS |

59. Two springs of force constants K, and X,
are stretched by the same force. The ratio of
potential energies stored in them is

K K,
(B) K,: K
© V& :JK,
(D) K2: K?

K € K, I3 g g6 el I oW
STl T 711 Bl 27, ©IRE oIt Afdes Ffexifes
TS 7

{

(A) K K,
(B) K,: K,
© VK : K,
(D) K2: K?

60. Which of the following forms hydrogen
bond?

(A) SiCl,
NH;3

(C) LiH

(D) HI

@IS RRCGIE I (A T2
(A) SiCl,

(B) NHj

(C) LiH

(D) HI



61. Three events A, B and C related with some
random experiment are mutually exclusive and
exhaustive.

If P(A)= % , P(B)= % , then the value of P(C) is

D) 75

@I TR AR A FonFe
A 7)9F 8 =94 S Bt 4, B'S C|

3
?Iﬁ‘P(A)zg, P(B):%@,WP(C)Q‘@

A) 5=
(B)
© =

D) —=

62. Othello loved Desdemona.
Rewrite as a negative sentence. The correct

alternative is—
‘/@XY Othello did not love Desdemona.
(B) Othello never stopped loving
Desdemona.
(C) Othello was not without love for
Desdemona,
(D) Desdemonadidnotbutloved Othello.

VOCLET-23

63. If the internal energy (dU) and the work
done (dW) are expressed in J and heat dQ) is
expressed in Cal, the first law of Thermodynamics
will be expressed as

(A) dQ=dU+dTW

(B) d7Q=dU+dW

(C) dQ=dU +JdW

Vgarf JdQ =dU + dw
I Srered =& (dU) € oI (dW)-F
TE GIF (J) 9R Teog Oiot (dQ) TR 9T
AP B 2, O i sfefmia 2l @i @eiE
APIS ZE—
(A) dQ=dU +dTW
(B) % =dU +dW
(C) dQ=dU +JdW

(D) JdQ =dU +dw

64. Kineticenergy of afree electronis doubled.
By how many times would its de Broglie
wavelength increase?

(A) 2 times
(B) 3 times
(C) 4 times

\}D(% times
GF T FERET foxE Rad T 2=
ISR ERIC S ASERGRIEES R ERI S el K
(A) 2aq
(B) 399
(C) 409

1
(D) E aq
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65. Which of the following has the highest
equivalent conductance?

\}}(’5/0-005 M NaCl

(B) 0-05 M NaCl
(C) 0-02 M NaCl
(D) 0-01 M NaCl

@G TE o T
(A) 0-005M NaCl

(B) 0-05M NaCl

(C) 0-02 M NaCl

(D) 0-01 M NaCl

66. The square root of —3+4; is
\}xf +(1+2i)
- (B) %(2+i)

©)
D)

H+

2+21i)

(
(1-2i)

H+

(=3 +41) a7 T =
(A)
(B)
(®)
D)

+(1+2i)
+(2+1)
+(2+28)

+(1-21)

67. Which ofthe following elements is transition
element?

(A) Sb

vPB'r \4 /
(C) Bi '
(D) Sr
53 @ G AfwerS Giet 2

(A) Sb
BV
(C) Bi
(D) Sr

16

1+i

1-i

n
68. If ( ) =1, then the smaller positive

integer n is equal to
(A) 2
L
© 6
(D) 8

o G—ﬂ) =1, OIRE 197 FHOH {IIF
—1

ST W 2
(A) 2
(B) 4
©) 6
D) 8

69. The velocity of a particle moving with

simple harmonic motion is at the mean

position.
\)/(f Zero
(B) minimum
(©) maximum
(D) None
sferel | f
(A) "0
(B) s&=H
(©) o &R
(D) IR T
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70. Distance between the point (1, 2, 3) and 72. Highest basic compound—
X-axis is (A) Ca(OH),
(A) 5 unit (B) Mg(OH),
\/1«8‘)’\/1_5 unit ,\/(2)/ Sr(OH),
(C) 9 unit (D) Ba(OH),
(D) 13 unit AT A A FA—
(1, 2, 3) R @ x-CF3 739 2@ (A) Ca(OH),
(A) J593% (B) Mg(OH),
(B) J13 %= (C) Sr(OH),
(C) 9 @3z (D) Ba(OH),
(D) 13 @==

73.
£ 10 3 /6& 2 ? )
4 5

9

Find the missi ber:
71. The roots of the equation x2 —3x+1=0 1nc (e TISSINE B

o (A) 20
, (B) 22
(A) iﬁ;' (©) 24
12
®) +3 Lo
-2
© —ix\3
)
\/(B{\/—B—ii i
2 74. Which term of the sequence 4,9, 14,19, .....
is 1247
X2 —Bx+1=0 AT Jeraq L& (A) 15
. (B) 1
(A) + ﬁz“ 25
@) Y37 o
=73 4,9, 14, 19, ..... 97 FOOT #i7 124?
i3 (A) 15
©) (B) 10
s (©) 25

Pl = (D) 20
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75. The pH of 107® M HCl solution is
(A) 8
(B) -8
(C) between 7 and 8
between 6 and 7

10~*M HCI %3t9R pH =
(A) 8

(B) -8

(C) 78 8-93 g

(D) 68 7-93 WY

76. If the straight line "“4=>’;2=2‘2K
lies on the plane 2x — 4y + z = 7, then K will be
7
(B) -7
O 1
(D) No real value
x4 _y-2_ 2K smmar®
11 2
2x — 4y + z = 7 AT SRS I K~93 TH R
(A) 7
B) -7
© 1

(D) @I AT T R

77. If "1% =42 "Ig , then the value of n is
(A) 2
\ BT 10
< 3
(D) 6

W "R =42 "B W, O n~93 T
(A) 2
B) 10
© 3
(D) 6

18

78. We should discard our bad habits.
Replace the underlined word in the following
sentence with correct phrasal verb.

(A) do with
(B) doup
(C) do for

\}D7/do away with

79. 1 have mobile phone and I use it for online
class.

The linking word in this sentence is
\/(A’)/and
(B) use
(C) online
(D) 1t

80. Thecoordinates of the point on the parabola

y* = 16x whose ordinate is four times its abscissa
are ‘

(A) (2,8
14

©) -1,-4)

D) (3, 12)

y* = 16x Siftqren Boififys @ R o
BUEE bIRwd G [Refoe 7 ==

(A) (2,8)

(B) (1,4)

©) (-1,-4)

D) G, 12)



81. The refractive indices (R.1.) of glass and
X 3 :
water withrespectto air are 7 and g— respectively.

The R.1. of glass w.r. to water is

; Y AATE 16 W3R ST 2T JNF
4
3%3 T, TR AT D9 AT FO A2

(A)
(B)

(&)

N [ o0 v|w

g

82. The. hybridisation of ‘N’ atom in NO,",
NO,”, NH," are respectively
SP, SP?, SP?
(B) SP?, SP, SP?
(C) SP3, SP? SP
(D) SP, SP3, SP?
NO,*,NO,”,NH,*~4 N-GF A TUFCT
=
(A) SP, SP?, SP?
(B) SP? SP, SP?
(C) SP?, SP?, SP
(D) SP, SP3, SP?
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83. Two soap bubbles have radii in the ratio
2:1. The ratio of excess pressure inside them is
\/(A()/ 1:2
B) 2:1
©) 4:1
(D) 1:4

fS AN IR IIACER B2 221 2: 1 |
Y SO BItAe TS 21

(A) 1:2
B) 2:1
© 4:1
(D) 1:4

d%x
dr?
S.H.M. The time period is

2
» =

2
® 3

NCE

2n
(D) 3

84. The equation +ox =0 represents an

dZ
dew.x:O 3B T @IFsfoq A

oM a1 | 93 sifeq A 7@
2
(04
2n
a?
2n
Ja
27
o3

(A)
(B)
©

(D)
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85 If 1, , w? are the cube root of unity, then
the value of (1 +a))(l + @* )(1 + o )(1+ ot ) is
w1 |
(B) -1
O o
(D) w?
1, o, @20 GIFT T W, O
(1+a))(1+a)2 )(1+a)4 )(1 + o’ )-&ﬂ?ﬂﬁ‘{@

A1

®B) -1
(ON
(D) w?

86. The coefficientof x° y8 in the expansion of

87. Kirchhoff’s Second Law is based on the
law of conservation of
(A) charge
energy
(C) momentum
(D) sum of mass and energy

e e g FEliRe @ F)F
LCEACLEATCEEI

(A) S

(B) *f&

(C) SAw4

(D) ©7 @ *f&q 7

88. The amount of energy in kilowatt-hour
consumed by an electric heater rated 1100W at

220V in 4 hour is
(A) 22
. 4-4
(C) 66
(D) 88
220 (S5, 1100W ISP G0 IEILF
o 4 9571 @ e I7 I OF WA [eeneiv-
T GFE TR
(A) 2-2
(B) 44
(C) 66
(D) 88

89. ‘Bayer’s reagent’ is—
\Mkaline KMnOQj, solution
(B) acidic KMnO, solution
(C) dilute KMnO, solution

(D) aqueous solution of bromine

IR [P T —
(A) =W KMnO, %34
(B) if&F KMnO, &3
(C) g KMnO, @4
(D) G e T3¢t



90. The mean of first 50 natural number is
(A) 50
(B) 25
259
(D) 30
AT 50 FSIRT MY G 2=
(A) 50
(B) 25
(C) 255
(D) 30

91. Itwas Sunday, so of the shops were
open.
Fill in the blank with correct alternative.
(A) no
(B) any
none

(D) None of the above

92. Which of the following aqueous solution
has highest boiling point?
(A) 01 (m) CO(NH,),
(B) 0-1 (m) NaCl
(C) 01 (m) NazSO4
0-1 (m) KNO,

oA @ AT G oA I 2
(A) 01 (m) CO(NH,),

(B) 0-1 (m) NaCl

(C) 01 (m) Na,SO,

(D) 01 (m) KNO,
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93. The value of [tan'1 (%)+ tan ! (%ﬂ is
27
(A) 3

T
(B)E

(B)
©

@ 4

94. f(x)=log(logx) then f'(e)is

(A) e

©

o N

(D) 0

f(x)=log(logx) X f'(e)~aT M T

(A) e

1
®)
2
© <

e

D)0
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95. The value of Var(5X+3) is equal to

'\}Aa/zs Var(X)
(B) 5 Var(X)
(C) 5 Var(X)+3
(D) 0

Var(5X+3)~93 7 75
(A) 25 Var(X)

(B) 5 Var(X)

(C) 5 Var(X)+3

(D) 0

96. The number of elements in the power set

P(S) of the set S={{¢},1,{2,3}} is
(A) 2
(B) 6

©
8

M8 (TGN IPT GG P(S) YT ™I—
s = {{¢}.1.{2.3}}

(A) 2
(B) 6
©) 4
(D) 8

97. Find the missing number:
1,2,9,4,25,6,7
(A) 5
49
(C) 50
(D) 47

98. Which one will replace the question mark?

(A) 25
(B) 37

41
(D) 47

99. The force on a charge particle moving in a
magnetic field is maximum when the angle between
direction of motion and field is

(A) zero
BY90°
(C) 180°
(D) 45°

BTFF CFa SN (I SR G2/ &AS
I A Q@ T AT A7 oYL 8 pFF
CFIER SIS TS| (el =2

(A) X

(B) 90°

(C) 180°

(D) 45°

100. Study the following diagram carefully and
answer the question:

D Government employees

A Urban people

\

Which of the following statements is true?

(A) All urbans are graduates.
(B) All graduates are urbans.

(C) All the urban government employees
are graduates.

\/(B’)/ All teachers are urban people.




